then:
i)
$$U(t+T)$$
 is also a fundamental matrix
2) there exists a non-ningular, continuously diff ble
watn'x - valued fu:
 $P: t \longrightarrow P(t)$ with period $T: P(t+T) = P(t)$
and a time - independent matrix $H_E \in C^{uRU}$, s.t.
 $U(t) = P(t) \exp(-i t H_E)$
 $u(T) = P(T) e^{-i TH_E} \frac{u[0] = 1}{2} = P(0) = 1$
 $u(T) = P(T) e^{-i TH_E} \frac{u[0] = 1}{2} = P(0) = 1$
 $u(T) = P(T) e^{-i TH_E} \frac{u[0] = 1}{2} = 1$
 $U(eT) = [U(T)]^{\ell} = e^{-i eT H_E}$

$$\frac{Proof}{I} : : Q_{k} U(1+T) = : U(1+T) = H(1+T) U(1+T)$$

$$= H(1) U(1+T) \times$$

$$= H(1) U(1+T) \times$$

$$2) U(1) & U(1+T) ave both furt. matrices$$

$$= H(1) U(1+T) \times U(1+T) = U(1) U_{F} (**)$$

$$U_{F} : C^{VM} \rightarrow C^{VM}$$

$$b_{T} = U(1) U_{F} (**)$$

$$U_{F} : C^{VM} \rightarrow C^{VM}$$

$$b_{T} = U(1) = H(1) = (*)$$

$$U_{F} : C^{VM} \rightarrow C^{VM}$$

$$b_{T} = U(1) = H(1) = (*)$$

$$b_{T} = U(1) = (*)$$

$$U_{F} = U(1) = (*)$$

Rules:
1) note: Hun vequives a linear ODE
2) H(H) need not be hermitian
but if
$$H(H) = H^{\dagger}(H) = 3$$
 $H_F = H_F^{\dagger}$

- physical meaning:
$$W_{1}(t,0) = P(t) = -itHe pt(0)$$

= $W_{rot}(t)$
- slooks like the transformation law for erv ep/s
s/w lab 8 not frames!
 $P(t)$: not — s lab
=> Hamiltonian in not frame: I
Hoor (t) = $P^{1}(t) H_{1}(t) P(t) - i P^{1}(t) Q_{1} P(t) = H_{2}$
How (t) = $P^{1}(t) H_{1}(t) P(t) - i P^{1}(t) Q_{1} P(t) = H_{2}$
Hime-interp.
- Floquet's them: statement about existence of a vel. tome
where dynamics of system is governed
by the time - indep Hamiltonian H_{2}
note: then doen't hell as how to compute H_{1}
(how to find that special transforme)!
- unterline:
effective / Floquet Homiltonian : H_{2} , $H_{2}H_{1}$
- unterline:
effective / Floquet Homiltonian : H_{2} , $H_{2}H_{1}$
- unterline:
 $P(t, 0) = e^{-iTH_{2}}$
- unterline:
 $Floquet unitary : U_{2} = U(T, 0) = e^{-iTH_{2}}$
- seve op: over one drive cycle /period T
- seigende composition:
 $U_{2} = \frac{1}{2}e^{iB_{1}E_{1}}M_{2} < M_{2}I$
spectrum of U_{2} : $\int B_{1}E_{1}^{2}$ lives on unit circle

How do we compute
$$H = R$$
 $K = in \operatorname{prachie} Y$
 $\Rightarrow inverse-brequency expansions: $w \Rightarrow w$. $(w = \pi = \pi)$
 $f)$ simple case: step drives (similar the kicked driver)
 $W = e^{-i \frac{\pi}{2}} H_e = \frac{\pi}{2} \frac{\pi}{2} H_e = \frac{1}{2} e^{-i \frac{\pi}{2}} H_{FM}$
 $H_{FM} = \frac{1}{2} \log \left(e^{-i \frac{\pi}{2}} H_e = e^{-i \frac{\pi}{2}} H_e \right)$
 $= \frac{1}{2} \left(-i \frac{\pi}{2} \left(H_e + H_q \right) + \left(\frac{-i \pi}{2} \right)^2 \frac{1}{2} \left[H_e, H_q \right] \right]$
 $+ \left(\frac{-i \pi}{2} \right)^3 \frac{1}{12} \left(\left[H_e, \left[H_e, K_q \right] \right] + \left(\frac{e + e}{2} \right) \right) \right)$
 $= \frac{1}{2} \left(H_e + H_q \right) = O(\pi^{\circ}) := H_{FM}^{(e)}$
 $= \frac{1}{2} \left(H_e + H_q \right) := H_{FM}^{(e)} = O(\pi^{\circ})$
 $= \frac{1}{2} \left(\left[H_e, \left[H_e, K_q \right] \right] + \left[H_e, \left[H_e, H_e \right] \right] \right) := H_{FM}^{(e)} = O(\pi^{\circ})$
 $= \frac{1}{2} H_{FM} = \sum_{n=0}^{\infty} H_{FM}^{(n)} = H_{FM}^{(n)} \approx \frac{1}{2} \approx \pi^{n}$
Bakeer - Campbell - Hows dorff (BCH) formula
2) generic time - pen'edic dependence :
 $\frac{F \log (net - Mag nus expandence)}{(F M)}$$

$$\frac{\alpha Siume!}{Z} H_{FM} = \sum_{n=0}^{\infty} H_{FN}^{(n)} \sim \frac{1}{\omega} \qquad H(t_{j}) = H_{j}^{*}$$

$$LHS = \underline{M} - i \int_{\sigma} dt_{n} H_{n} - \int_{\sigma} dt_{n} \int_{\sigma} dt_{n} H_{2}$$

$$\frac{\sqrt{T}}{\sqrt{T}} \qquad \frac{\sqrt{T}}{\sqrt{T^{2}}} \qquad H(t_{j}) = H_{j}^{*}$$

$$RHS = \underline{M} - i \int_{\sigma} (H_{FM}^{(0)} + H_{FM}^{(1)} + H_{FM}^{(0)} + \dots)$$

$$+ \frac{(iT)^{2}}{2} (H_{FM}^{(0)} + H_{FM}^{(0)} + \dots) (H_{FM}^{(0)} + H_{FM}^{(1)} + \dots)$$

$$H_{\mu}^{(e)} = \frac{1}{T} \int_{0}^{T} dt H(t) \qquad \text{time-averaged Hamiltonian}$$

$$-\int_{0}^{T} dt_{1} \int_{0}^{t} dt_{2} H_{A} H_{2} = -iT H_{FM}^{(1)} - \frac{T^{2}}{2} (H_{FM}^{(e)})^{2}$$

$$H_{FM}^{(1)} = \frac{i}{T} \left(\frac{T^{2}}{2} \left(\frac{1}{T^{2}} \int_{0}^{T} dt H(t) \right)^{2} - \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{1} H_{1} \right)$$

$$= \frac{i}{T} \left(\frac{1}{2} \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{2} H_{A} H_{2} - \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{1} H_{1} \right)$$

$$= \frac{i}{T} \left(\frac{1}{2} \int_{0}^{T} dt_{1} \left(\int_{0}^{t} dt_{1} + \int_{1}^{t} dt_{1} \right) H_{A} H_{2} - \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{1} H_{1} \right)$$

$$= -\frac{i}{2T} \left(\int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{4} H_{2} - \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{2} H_{2} \right)$$

$$= -\frac{i}{2T} \left(\int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{4} H_{2} - \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{2} H_{2} \right)$$

$$= -\frac{i}{2T} \left(\int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{4} H_{2} - \int_{0}^{T} dt_{1} \int_{0}^{t} dt_{1} H_{2} H_{2} \right)$$



$$= \int_{0}^{T} dt_{4} \int_{0}^{t_{4}} dt_{2} H_{a} H_{a}$$

$$H_{FM}^{(1)} = -\frac{1}{2T} \int_{0}^{T} dt_{4} \int_{0}^{t_{4}} dt_{2} [H_{4}, H_{2}]$$

similarly:
Here =
$$\frac{1}{3! + 1^{n}} \int_{0}^{\infty} dt_{1} \int_{0}^{\infty} dt_{2} \left[H_{1}, \left[H_{2}, H_{1} \right] \right] + \left[H_{2}, \left[H_{1}, H_{1} \right] \right]$$

- determined Here, wext comes Ken :
 $\int e^{-i \int_{0}^{\infty} ds H(s)} = e^{-i K_{FN}(t)} e^{-it H_{FM}}$
 $K_{FN}(t) = \int_{u=0}^{\infty} \frac{K_{FN}^{(n)}(t)}{\infty 1/\omega^{n}}$
 $\approx using exponsion for H_{FM}^{(n)}$:
 $K_{FN}^{(0)}(t) = D$
 $K_{FN}^{(0)}(t) = \int_{0}^{\infty} ds \left(H(s) - H_{FM}^{(0)} \right) = O\left(\frac{1}{2} \right)$
 $- Floquet - Magnus boundary undition
 $K_{FM}(t) = O$, $l \in \mathbb{Z}$
 $3) von Vleck exponents:$
 $U(t, 0) = e^{-i K_{VV}}(t; t_{0}) e^{-it H_{VV}} e^{+iK_{VV}}(t; t_{0})$$

- defining propos: (i) How indep. of to (all dependence is part of Kow) $(ii) \int Kw(t) dt = 0$ swant to expand: Hur = 5 Hur Kw(H) - ~ KW(H) recull : Floquet's thun detines a vet. trane where dynamics is generated by HvV now: construct ref. transf. order by order in 1/w us vV expansion e^{ik}He^{-ik}~ H+i [к, H] - ½ [к, [к, H]] + ... $-i e^{iK} \partial_{t} e^{-iK} = -\partial_{t} K - \frac{i}{2} [K, \partial_{t} K] + \frac{i}{6} [K, [K, \partial_{t} K]] + \cdots$ Huv = e H(H) e i kuv (H) -i kuv (H) Huv = e H(H) e -i e i kuv (H) Of e $= H(t) + i [K^{(i)}(t), H(t)] + \vartheta(\omega^{-2})$ $-\frac{1}{2}CK^{(1)}(t), O_{t}K^{(1)}(t)] - O_{t}(K^{(1)}(t) + K^{(2)}(t)) + O(\omega^{-7})$ time-dep. on KHS has to varish order by weller in K since LHS is time-indep. expande $H(H) = \sum_{p=-\infty}^{\infty} H_p e^{-\frac{1}{p}}$ Fourier coeff.

$$= H_{0} + \sum_{e \neq 0} H_{e} e^{it\omega t} - \partial_{t} K^{(1)}(t) - \partial_{t} K^{(1)}(t)$$

$$+ i \left[K^{(0)}(t), H(t) \right] - \frac{1}{2} \left(K^{(0)}(t), \partial_{t} K^{(0)}(t) \right]$$

$$O_{i} K = \sum_{i \neq 0} H_{e} e^{it\omega t} = K(t) = \sum_{i \neq 0} \frac{1}{it_{i}} H_{e} e^{it\omega t}$$

$$\int_{i \neq 0}^{it_{i}} \frac{1}{it_{i}} H_{e} e^{it\omega t}, \sum_{i \neq 0} H_{u} e^{it\omega t}$$

$$\int_{i \neq 0}^{it_{i}} \frac{1}{it_{i}} H_{e} e^{it\omega t}, \sum_{i \neq 0} \frac{1}{it_{i}} \frac{1}{it_{i}} H_{e} e^{it\omega t}$$

$$= H_{0} + i \left[\sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{i}} H_{e} e^{it\omega t}, \sum_{i \neq 0} \frac{1}{it_{i}} \frac{1}{it_{i}} H_{e} e^{it\omega t} - O_{k} K^{(1)}(t) \right]$$

$$= \frac{1}{i} O_{k} K^{(0)} + O(\omega^{-2})$$

$$= H_{0} + \frac{1}{\omega} \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{i}} e^{it\omega t} \left[H_{k}, H_{0} \right]$$

$$= \int_{0k} K^{(0)}(t) + O(\omega^{-1})$$

$$= H_{0} + \frac{1}{2}\omega \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$= \int_{0k} K^{(0)}(t) + O(\omega^{-1})$$

$$= H_{0} + \frac{1}{2}\omega \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$= \int_{0} \frac{1}{it_{i}} \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$= \int_{0} \frac{1}{it_{i}} \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$= \int_{0} \frac{1}{it_{i}} \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$= \int_{0} \frac{1}{it_{i}} \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$= \int_{0} \frac{1}{it_{i}} \sum_{\substack{k \neq 0 \\ k \neq 0}} \frac{1}{it_{k}} e^{-it\omega t} \left[H_{k}, H_{m} \right]$$

$$K_{vv}^{(l)} = \frac{1}{\omega} \sum_{\substack{k \neq 0 \\ l \neq 0}} \frac{1}{ie} H_{e} e^{ik\omega t} = \dots = -\frac{1}{2} \int_{0}^{T+1} dt' \left(1 + 2 \frac{t-1}{T}\right) \dots dt \times xHb$$

$$K^{(2)}(t) = \frac{1}{\omega^{2}} \sum_{\substack{k \neq 0 \\ l \neq 0}} \frac{1}{ik^{2}} [H_{e}, H_{o}] e^{ik\omega t}$$

$$+ \frac{1}{2\omega^{2}} \sum_{\substack{k \neq 0 \\ l \neq -e}} \frac{1}{e^{(e+m)}} [H_{e}, H_{m}] e^{ik(m)} \omega t$$

$$H_{vv}^{(0)} = H_{o} = \frac{1}{T} \int_{0}^{T} dt H(t)$$

$$H_{vv}^{(1)} + \frac{1}{2\omega} \sum_{\substack{k \neq 0 \\ l \neq 0}} \frac{1}{2} (H_{e}, H_{e}] = \dots = -\frac{1}{2} \int_{0}^{T} dt \int_{0}^{t} t_{e} (1 - 2 \frac{t_{e} - t_{e}}{T}) \mod 2 \times [H_{e}, H_{e}]$$